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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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1" a) Statethe objectives behind introduction of workmen Compensation Act 8 each
1923 and enumerate the circumstances under whlch an employer is liable
for compensation to an employee.

b) Listout the documents required in support of a Marine claim under Marine .
Section of a Marine cum Erection Insurance Policy.
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2 - AG-79
Write short notes on any four of the following extensions of pubhc liability = 3 each
policy.
a) Carriage of effluents
b) Transportation
c) Food and beverages cover
d)  Property in the custody of insured.
e)  Swimming pool
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D) Whatare the details shown in arisk inspection report for rnachmery loss 6each

of profits policy?
i)  Mentionthe factors considered for risk asséssment under machinery loss

of profits policy?
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Describe: » | k 6 each

a)  Scope of cover and ,
b) Basis of sum insured and indemnification in respect of a Machinery
Insurance Policy.
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3 : AG -79
Describe the following in respect of an Electronic Equipment Insurance Policy: 3 each
a) Various sections of the policy,
" b) Indemnity Period,
¢) TimeExcess
- d) Maintenance warranty
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Define any three of the following terms in relation to Public liability insurance 4 each :
Act1991.

a) Hazardous Substance
b) Owner

¢) Handling

d) Tumover

. ﬁmﬁa@amﬁamﬁag@ﬁwm@aﬁmmm (B 4 31%)
o) gl iy

9 I

) S R

. Mention the construction hazards of followmg civil works— 4 each

a) Tinneling

b) Bridges

¢) TallBuildings
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What is a CECR policy? Describe the coverage under this .pblicy. 7 12
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Describe the following in relation to Erection AllRisk Policy: 4 each
a) Insurable Property : : '

b) - Period of Insurance

¢)  SumInsured
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a) ' Explaininbriefthe operative clause of Product Liability insurance form. 6
b) Explaintheterms : S 2-each

) _ Vicarious Liability
i) Nofault liability
»iil) Degree of case
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